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\def\whatevera

{\Umathordrelspacing \textstyle=50mu

\Umathopenbinspacing\textstyle=50mu}

\def\whateverb

{\Umathordrelspacing \textstyle=25mu

\Umathopenbinspacing\textstyle=25mu}

$\whatevera a = (-2)$

$\whateverb a = (-2)$

$ {\whatevera a = (-2)}\quad

{\whateverb a = (-2)}\quad

{\whatevera a = (-2)}

$

$ {\whatevera a = (-3)}\quad

{\whateverb a = (-3)}\quad

{\whatevera a = (-3)}

$

\def\whatevera

{\frozen\Umathordrelspacing \textstyle=50mu

\frozen\Umathopenbinspacing\textstyle=50mu}

\def\whateverb

{\frozen\Umathordrelspacing \textstyle=25mu

\frozen\Umathopenbinspacing\textstyle=25mu}

$\whatevera a = (-2)$

$\whateverb a = (-2)$

$ {\whatevera a = (-2)}\quad

{\whateverb a = (-2)}\quad

{\whatevera a = (-2)}

$

$ {\whatevera a = ( -2)}\quad

{\whateverb\frozen\Umathspacingmode\textstyle1 a = (-2)}\quad

{\whatevera\frozen\Umathspacingmode\textstyle1 a = (-2)}

$

$ {\whatevera a = (-2)}\quad

{\whateverb a = (-2)}\quad

{\whatevera a = (-2)}

$


